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(1) (z+ 3)(zy + = — 3y)

2)zz2-10&& 22 -19+5(x+1)=0%ME, 2=-7,2. z=-1
L0 z=2.

1< 10L& 22 -19-5(+1)=0%fE, 2=-3,8. v <—-1&D
r=—-3.
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(3) —2(x+5)<3x+5LD x> -3.
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(1) Cy:y=a2*—122+15, Cy:y=—22?+ 12z — 21

(2) 2% — 120+ 15 = =222 + 122 — 21 2f#< &, x =2, 6.
r=20tFy=-5. x=6D&Z y=-21.
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(1) =M ABC 1T L, REKEHZHNT AC? =324+52—-2-3-5-
cos ZABC =49. £->T, AC =7
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(3) AD =z &8BL &, CD = 3z. MK ABCD IZHIZANET 5D T,
ZADC =180° — ZABC = 60°. & >T, = ACD IZREEHZ H W
T7? =224 (32)>—2-2-3x-cos60° =Ta? L7220 22 =7 &Y, AD =7,
CD =37,
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